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BEILFE - EEGFRILEM - 5E - AE BIFLER
2 0 L # 3 £ % £l S &=
4 (FO) SH6E SH55E 15 P SH6E SH54 2 i SH6HE SH5E b b5
1~10H 1~108 % ] % 1~10H 1~108 % 0 % 1~10H 1~108 Gk 4uh)

E E L OFE 138 83 55 66.3 115 76 39 51.3 83.3 91.6 -8.3
® A 7 5 2 40.0 5 4 1 25.0 714 80.0 -8.6
5# & 6 7 -1 -14.3 6 11 -5 -455 100.0 157.1 -57.1
)i X 10 7 3 429 8 7 1 14.3 80.0 100.0 -20.0
TRIEMRE 38 20 18 90.0 38 16 22 1375 100.0 80.0 20.0
BREEIRE 7 9 -2 -22.2 5 8 -3 -375 714 88.9 -17.5

TRIEHLWLVED 70 35 35 100.0 53 30 23 76.7 75.7 85.7 -10.0

EEHZEPL 1,079 1,239 -160 -12.9 474 556 -82 -14.7 439 449 -1.0
B A B 969 1,137 -168 -14.8 427 507 -80 -15.8 441 44.6 -0.5
FEXZR 409 497 -88 -17.7 141 326 -185 -56.7 345 65.6 -31.1

T o B 298 357 -59 -16.5 104 206 -102 -495 34.9 57.7 -22.8
B R H 107 132 -25 -18.9 36 117 -81 -69.2 33.6 88.6 -55.0
B = & 4 8 -4 -50.0 1 3 -2 -66.7 25.0 375 -12.5
z D i 560 640 -80 -12.5 286 181 105 58.0 51.1 28.3 22.8
B & E & 96 90 6 6.7 42 45 -3 -6.7 438 50.0 -6.2
Vof=KY 6 2 4 200.0 3 1 2 200.0 50.0 50.0
El Y 8 10 -2 -20.0 2 3 -1 -33.3 25.0 30.0 -5.0
£4 (£0) . i A £ %
SH6E LS55 b i SH65E SH55 # i SH65E SH55E 1 P
1~108 1~10H A g8 % 1~108 1~108 A = % 1~108 1~108 A = %

E Z N F 89 68 21 30.9 77 60 17 28.3 12 8 4 50.0
® A 3 2 1 50.0 3 1 2 200.0 1 -1 -100.0
[ & 7 18 -11 -61.1 7 12 -5 -41.7 6 -6 -100.0
e X 8 6 2 333 7 6 1 16.7 1 1 -
TRIEMRE 30 13 17 130.8 25 12 13 108.3 5 1 4 400.0
A EF 5 7 -2 -28.6 4 7 -3 -42.9 1 1 -

FREDLUVED 36 22 14 63.6 31 22 9 40.9 5 5 -

EEHGEL 98 105 -7 -6.7 87 89 -2 -2.2 11 16 -5 -31.3
g A B 80 89 -9 -10.1 71 80 -9 -11.3 9 9
FEXR 23 29 -6 -20.7 19 29 -10 -345 4 4 -

T ox B 18 20 -2 -10.0 14 20 -6 -30.0 4 4 -

B R H 4 7 -3 -42.9 4 7 -3 -42.9

B = = 1 2 -1 -50.0 1 2 -1 -50.0

F 0O i 57 60 -3 -5.0 52 51 1 20 5 9 -4 -44.4
EREIRE 14 9 5 55.6 14 8 6 75.0 1 -1 -100.0
Vof=<Y 2 3 -1 -33.3 2 2 - 3 -3 -100.0
El Y 2 4 -2 -50.0 1 -1 -100.0 2 3 -1 -33.3




